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Testa protokols

Pasdtijums PDG6_izklausanas

Serija: K3

Tests: Compression test Izgatavosanas datums: 25.11.2020 19:08
Standarts: EN 12390-3:2009 Parauga vecums: 49 00:50
Paraugs: Cube 150x150x150 Testa datums: 13.01.2021 19:58
Concrete class--—--- Testus veica: A. Dandens

Quality result conformity EN 206:2013: not possible
Pasutitajs U. Skadin$

Name Length Width Height Weight Bulk density Breakload Strength
[mm] [mm] [mm] [d] [ka/m?] [kN] [MPa]
1 150 151 150 8100 2390 955,6 42,5
Break type:
2 150 150 150 8100 2400 955,8 42,5
Break type:
3 150 150 151 8100 2380 1009,3 449
Break type:
4 150 150 150 8100 2380 1021,7 454
Break type:
Average 2390 43,8
Std. dev 8,62 1,55
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Paraugs 3
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Paraugs 4
pressure A [kN] pressure B [kN]
e Piston Displacement [mm] Load [kN]
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